[This question paper contains 12 printed pages.]

683 Your Roll No. ..............

B.Com. (H)/III/NS C

Elective Group : EA —~ Finance - |
Paper XX : Fundamentals of Investment

(NC : Admissions of 2004 and onwards)

Time : 3 Hours Maximum Marks . 73
a7 ;3 e quife : 75

o

(Write your Roll No. on the top immediately
on receipt of this question paper.)

(39 ¥97-v7 & faerd @ Fw Rr v AUl
oA W FIN s T 1)

Note :— The maximum marks printed on the question paper
are applicable for the candidates registered with the
School of Open Learning for the B.A. (Hons.)/B.Com.
(Hons.). These marks will, however, be scaled down
proportionately in respect of the students of regular
colleges, at the time of posting of awards for
compilation of result.

Note — Answers may be written either in English or in
Hindi; but the same medium should be used

throughout the paper.
P.T.O.



683 y3

fewqolt : zg gv7-va @ Ier yAsh @ B fd v o A
Afee, AfFT Tl IRY T wEIF vF & b TRy

Attempt all guestions.
All guestions carry equal marks.
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1. (a) State investment decision process. What are the

factors to be taken into consideration while making

investment decision ? (5)

(b) Compute the expected return and risk of the
following X and Y securities ?

State Probability R, R,
Bear Market 0.30 —10% —20%
Normal Market 0.20 18% 15%
Bull Market 0.50 25% 20%
(10)
OR

(a) What is an efficient portfolio in the context of
Harry Markowitz model of portfolio selection ?
Explain the role of investor’s preference in

identifying the optimal portfolio. (%)
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(b) A portfolio is constructed by investing 70% of the
funds in Sharpe Ltd and 30% in William ltd. The
following information regarding the two companies

is given below :

Sharpe William
Expected return 20% 15%
Standard Deviation 11% 8%

Compute the risk and return of above stated

portfolio assuming

(i) Correlation between two stocks is +1.
(ii) Correlation between two stocks is 0.

(iii) Correlation between two stocks is —I. (10)

(=) P Pk wfkm & Jeaa A | P P o) @
fr =R wt RERE @@ =9ney ?

(@) Frfafe X ok Y sRofdl @ e wiws ok
Agm = Ffvwa H

e LUBER Ry R,

W TR 0.30 -10% -20%
FEAFY TSR 0.20 18% 15%
Iy TR 0.50 25% 20%

P.T.Q.
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(ﬁ)ﬁmﬁw%%ﬂ—ﬁﬁﬁrﬂma‘aﬁﬁw
TERforl = B ? 7 Iedd WEwd Y TBa S
¥ faws 9 sha f e S e g

(@) o= IEHferd S ™A, W #® 70% W T ¥ Ak
30% fafors fofits ¥ PRe s A 2r @ @
Fa ¥ aftm fFrefafes e @ W @ 2

I Rfea=
qeriEE wiaws 20% 15%
A E e 11% 8%

TR oy 0 wdwifaar & WRaw st vidws =1 sfvwes
TE AHHT Hifee fF

(i) & =i & 99 wegey +1 2|
(i) 3 wfA & 9w wgEsy 0 7

(iii) 3 = & 9 wEEEy 1 B

2. (a) What are the merits and demerit of having fixed
income securities in your portfolio ? (%)

{(b) The following information is given regarding a
bond :
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Face value Rs. 100
Coupon rate 12%
Maturity 4 vears
Redemption value Rs. 120
Compute :

(i) The value of the bond when the opportunity
cost of capital is 15% ? (5)

(ii) What would be its yield to maturity if
the current market price of this bond is
Rs. 947 (3)

OR

(a) State various properties of bond value described
by Malkiel. (3

(b} The bond with face value of Rs. 100 is currently
available at Rs. 96 in the market. The coupon rate
is 14% p.a. The maturity time is 5 vears and
interest is paid annually. Compute the yield to
maturity of this bond. What would be your answer
if the current selling price is Rs. 105 instead of
Rs. 96 7 (10)

(E)aﬁmﬁﬁw@ma@uﬁﬁﬁﬁwﬁ%ﬁ
Rl & TR |

P.T.O.
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(@) o W @ F PR g & T d

FHhd A 100 =
FIA W 12%
TR 499
wfaerT o 120 %
s &

(i) = =1 4@ & 4 A BFw awE 15% 2

(ii)qﬁmﬁmuﬁmwﬁmaﬁﬁgaﬁ.
JHAA AR BT 94 T B 7

Heaar

(%) weas 3w IR A A @ B O W S
AT |

(@) 100 & 3fha Mg e & @ W9 AR ¥ 96 T A
fire @1 ® | O W 14% Wi ad 2| wRysm@ w1 S
¢ 2 R s @iffer Rar war ? 1 T =i & qRewa
T WAwd & FfveaT g 1 A I S B
of? e fsl A 96 = A FTWM 105 T W

3. (a) How fundamentzal a-na!ysis is -different from

technical analysis. (7)
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(b) Write a short note on the followings:
(i) Point and Figure chart

(i1) Support and Resistance fevel (8)

OR

{a) Explain Economy-Industry-Company (EIC)
approach. {7

(b) Compute beta for X Ltd. and market from the
following data ;

Return (X Ltd.) Market return
10 15
18 12
14 18
20 16
1 19 (8)

(%) qenE Rvean e R T Reow | et g
27
(@) FreefaRes w dfta R R
(i) g 3k % ¢
(ii) Fefe 3R WA &R
P.T.O.
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() e - JAM - FE (EIC) IWW R TR i |

(@) X ffde ok aow @ B PRl st @ 9

e R
wfrwa (X fafey) AR Wiawe
10 15
18 12
14 18
20 16
11 19

4, (a) Explain various types of equity schemes of mutual
funds. (5)

(b} An investor is holding two stocks alpha and omega
in her portfolio. The ex-ante probability distribution
of two stocks and market index is given below,

Economic | Probability Conditional return
condition Alpha Omega | Market
Good 03 21 23 22
Normal 0.2 12 17 18
Worse 0.5 -8 -10 -9
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The risk free rate is expected to be 8%. Assume
that the CAPM conditions hold true, should

investor continue to hold the same stocks or
not ? (10)

OR

(a) What are the main differences between open-

ended and closed-ended schemes of mutual
funds ? &)

(b) A three month call option premium is Rs. 2 and

3-month put option premium is Rs. 3. Assume that
the exercise price for both the cases is Rs. 50,
find out the net payoff of call option buyer, call
option writer, put option buyer as well as put option
writer along with the graph when spot price of the
share on the exercise day is Rs. 47, Rs. 49, Rs. 50,
Rs. 52, Rs.53. Rs. 55 and Rs. 60. (10)

(%) Fga w & R TR & Rl aemet i A

T |

(@) vw Flvs & 1@ 3 AEHkE ¥ & wiw - v AR

AW B T A Vi = TG wiea fawe SR
EUTW%:

P.T.O.
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i wifd=r TR W
Tm TR i TR
F=S 0.3 21 23 2
e 0.2 12 17 18
T W 0.5 -8 -10 -9

I qad R D §% B W ¢ | AT Ao B
CAPM =¥ w € @t =1 fdwes ) 38 w1 & @
& =g ?

Jrdar

(F) I wY H I W@ IR Fm AR ¥ =™
R oww B 7

(@) & 87 ME & w9 e @ ffmm 25 @R 3 e
* qz fawes o Wi 3 1 8 ) %= Al f6 @ e
¥ g A 50 T B | i fAEs w, wid Qe
R, I BFes 2w Rk aw B 1w Reew v
fae et 7@ S 3k T @i Tw aam
T B Yo & wie g 47%, 49% S0%, 52%,
53%, 55% 3R 60% 2

5. Write short note on any three of the followings:

(i) SENSEX
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(i) Dematerialisation

(1ii) Rolling settlement

(iv) Insider Trading (15)
OR

(a) Write a short note on Investors’ Protection. (§)

(b} The NAV of mutual fund scheme is Rs. 50 in the
beginning and Rs. 70 at the end of a period. The
expenses were incurred at the rate of Rs. 5 per
unit during this time period. Find out the expense
ratio. (5)

(c) The market price of the share is Rs. 250 at present.
The risk free rate is 8%. Find out the futures
price when the time period of the futures contract
is 3 months. (5)

fafRm % 4 &8 3R = wft RwlE fofag
(i) SENSEX
(ii) S¥OReeHT
(iii) & Froew

(iv) wamE ¢

P.T.O.
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(%) ‘Frews g’ w Ay food 8 fm

(@) WgIa ®z W AW NAV Jm9 ¥ 50T @ 3k 1=
e H wAia W 70% A1 3@ s ¥ 5w ol g
N WY ED By A T FEm W A

() 39 T@ W FAGR WG 250% 3 ) AR T 8%
2| W S WA AR ww wrd gl 9w sEi

3 WE B
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